
Β ΛΥΚΕΙΟΥ ΘΕΤΙΚΟΣ ΠΡΟΣΑΝΑΤΟΛΙΣΜΟΣ 
4.36         1)        

Είναι    ΑΒ x 2,4 3 ΑΒ x 2,1      . Οπότε για να είναι ΑΒ/ /y y  πρέπει x 2 0 x 2     

4.36         2)        

Είναι  ΑΒ x 4, 1   .  

Οπότε για να είναι ΑΒ/ /y y  πρέπει x 4 0 x 4      

4.36         3)        

Είναι  ΑΒ x 9, 4   .  

Οπότε για να είναι ΑΒ/ /y y  πρέπει x 9 0 x 9      

4.36         4)        

Είναι  ΑΒ 3, y 8  .  

Οπότε για να είναι ΑΒ / /x x  πρέπει y 8 0 y 8      

4.36         5)        

Είναι   ΑΒ 11, y 6   .  

Οπότε για να είναι ΑΒ / /x x  πρέπει y 6 0 y 6       

4.36         6)        

Είναι  ΑΒ 2,2y 8   .  

Οπότε για να είναι ΑΒ / /x x  πρέπει 2y 8 0 y 4      

 


